/ Alg 2A Ch 4A Practice Test

Per:

Date:

Score:D /100

show work for full credit. Circle, box, or highlight your answers.

Each question’s point value appears in < >.

Graph the following: <3 ea.>
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Graph the following: <3ea.> \[ |
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Identify the axis of symmetry and the coordinates of the vertex; state whether there is a max or min: <3ea.>

5. - (x—4)2+9 6. y=x2—8x+7
==y
axisof 4 ¥ axis of
symmetry:; )(' il Y symmetry: X’ Lﬁ' =
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Factor each of the following: <3ea.>
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Write the equation in vertex form of the parabola given ... <3ea.>
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Write the equation In standard form of the parabola pazsslng through the points ... <4 ea.>
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da +2b + =) = 4—4&-2516-——7 Zoor b= 73 }
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